The Genuine. The Original.

Jamb Connection
Supplement

------------------------------------

4 o :
I'.—,o . 117868 é/g: Z
&2
'l| 6‘6'{--‘.’.CENSE?.--"\ "
‘\ S/ '--.c--o'€ .-
WONAL Bl
A ASCRES S

This document provides a series of connection schedules and basic detailing concepts for the
connection of garage door jambs to building frames with the use of various fasteners.
DASMA Technical Data Sheet TDS-161 may be used as an alternate to this document.

P/N 411241 Rev. P7



-

(SN

SCHEDULE 1
5/16" DIAMETER LAG SCREWS

MAXIMUM SPACING OF LAG SCREWS PER JAMB (IN)
MAIN SUPPORT MEMBER SPECIES
SYP DOUGLAS FIR SPF
LOAD PER SPECIFIC SPECIFIC SPECIFIC
JAMB (LBIFT)N°TE® | GRAVITY - 0.55 GRAVITY-046 | GRAVITY-0.42

100 24 24 24
120 24 24 24
140 24 24 24
160 24 24 24
180 24 24 24
200 24 24 24
220 24 24 22
240 24 24 20
260 24 22 19
280 24 20 17
300 24 19 16
320 22 18 15
340 21 16 14
360 20 16 13
380 19 15 13
400 18 14 12
420 17 13 11
440 16 13 11
460 15 12 10 S
480 15 12 10 =< OFTg *‘\\‘
500 14 11 10 ;g\;ﬁ ------ B ON
520 14 11 9 Y % *‘0'
560 12 10 8 % “"DWAYNE JKORNISH 2
580 12 9 8 9 ....................... seeee
600 12 9 8 I' ’0'..- 117868 -':LLUE;
620 11 9 8 0O e 0 S E
640 11 9 7 ln\é‘@'é';--?ﬁﬂ‘é?-é'$0 Vg
660 11 8 7 \\\/ QNA\_\‘,:
680 10 8 7 AR
700 10 8 7 M
720 10 8 6 ?
740 9 7 6
760 9 7 6 7//7”/
780 9 7 6
800 9 7 6

. BASED ON 5/16" DIAMETER LAG SCREWS WITH 1-1/2" O.D. WASHERS WITH A 1-9/32"

THREAD PENETRATION INTO SEASONED DRY WOOD SUPPORTING STRUCTURE.

PROVIDE QUANTITY OF LAG SCREWS AS REQUIRED TO MAINTAIN MAXIMUM SPACING AS SHOWN IN
TABLE WITH A MINIMUM OF THREE (3) LAG SCREWS PER JAMB. LAG SCREWS AT TOP AND BOTTOM
OF JAMB SHALL BE PLACED A MAXIMUM OF 6" FROM THE END OF THE JAMB.

LOAD PER JAMB CALCULATED BY TAKING DESIGN LOAD (PSF) TIMES DOOR WIDTH (FT) DIVIDED BY 2.

EXAMPLE: DESIGN LOAD = 30psf
DOOR WIDTH = 16ft
LOAD PER JAMB = 30psf x 16ft/2 = 240Ib/ft

. CHART IS BASED ON 6'-6" MINIMUM AND 24'-0" MAXIMUM DOOR HEIGHT.

DOOR JAMB TO BE 2x4 OR LARGER NO. 2 GRADE SPF LUMBER OR BETTER MOUNTED TO SUPPORT STRUCTURE.
IF MOUNTING OVER DRYWALL, INCREASE FASTENER LENGTH TO ACHIEVE MINIMUM REQUIRED PENETRATION.
DESIGN OF THE SUPPORT STRUCTURE SHALL BE THE SOLE RESPONSIBILITY OF THE BUILDING DESIGNER

AND SHALL BE DESIGNED FOR THE JAMB LOAD LISTED IN ABOVE TABLE AS CALCULATED PER NOTE 3.

. MINIMUM EDGE DISTANCE SHALL BE 1/2", MINIMUM FASTENER SPACING SHALL BE 1-1/2",

AND ALL HOLES SHALL BE PRE-DRILLED TO PREVENT SPLITTING.

. LAG SCREWS SHALL CONFORM TO ANSI / ASME STANDARD B18.2.1.

Approved

Dwayne J. Kornish, P.E.
4576 County Rd 160
Mount Hope, Ohio

FLPE 77945 TX PE 117868

Revision P7



il

SCHEDULE 2
16d COMMON WIRE NAILS AND 16d THREADED HARDENED-STEEL NAILS

MAXIMUM NAIL SPACING PER JAMB (IN)
MAIN SUPPORT MEMBER SPECIES
SYP DOUGLAS FIR SPF
LOAD PER SPECIFIC SPECIFIC SPECIFIC
JAMB (LB/FT)NO™E% | GRAVITY-0.55 | GRAVITY-046 | GRAVITY - 0.42

100 24 24 19
120 24 20 16
140 21 17 14
160 18 15 12
180 16 13 10
200 15 12 9
220 13 11 8
240 12 10 8
260 11 9 7
280 10 8 7
300 10 8 6
320 9 7 6
340 8 7 n/a
360 8 6 n/a
380 7 6 n/a
400 7 6 n/a RN
420 7 n/a n/a _-’?‘E\OF T\E\;\‘\‘
440 6 n/a n/a :’0_)«?,.--""’ """"" Jo
460 6 nla nla ;’* * *.0'
6 7 Y
500 6 n/a n/a ; DWAYNEJ KORNISH 2
520 n/a n/a n/a @ oevvesessassasasassarssaasonas e
540 n/a n/a n/a ’I' ‘Pp 117868 QLZE ;
560 n/a n/a n/a ‘Q. OA T S ’,’
580 n/a n/a n/a l\\@gg--..'?ﬂ.s.-'ége_;-
600 n/a n/a n/a WWONAL =
620 n/a n/a n/a
640 n/a n/a n/a )
660 n/a n/a n/a /KC/
680 n/a n/a n/a
700 n/a n/a n/a
720 n/a n/a n/a %//J/ %/
740 n/a n/a n/a
760 n/a n/a n/a
780 n/a n/a n/a
800 n/a n/a n/a

. BASED ON 16d COMMON WIRE NAILS (0.162"x3-1/2") OR 16d THREADED HARDENED-STEEL NAILS (0.148"x3-1/2")

WITH A MINIMUM PENETRATION OF 2" INTO SIDE GRAIN OF MAIN MEMBER.

NAILS SHALL BE PROVIDED IN PAIRS AT A MAXIMUM SPACING AS SHOWN IN TABLE WITH A
MINIMUM OF THREE (3) PAIRS OF NAILS PER JAMB. NAILS AT TOP AND BOTTOM

OF JAMB SHALL BE PLACED A MAXIMUM OF 6" FROM THE END OF THE JAMB.

. LOAD PER JAMB CALCULATED BY TAKING DESIGN LOAD (PSF) TIMES DOOR WIDTH (FT) DIVIDED BY 2.

EXAMPLE: DESIGN LOAD = 30psf
DOOR WIDTH = 16ft
LOAD PER JAMB = 30psf x 16ft/2 = 240Ib/ft

. CHART IS BASED ON 6'-6" MINIMUM AND 24'-0" MAXIMUM DOOR HEIGHT.

DOOR JAMB TO BE 2x4 OR LARGER NO. 2 GRADE SPF LUMBER OR BETTER MOUNTED TO SUPPORT STRUCTURE.
IF MOUNTING OVER DRYWALL, INCREASE FASTENER LENGTH TO ACHIEVE MINIMUM REQUIRED PENETRATION.

. DESIGN OF THE SUPPORT STRUCTURE SHALL BE THE SOLE RESPONSIBILITY OF THE BUILDING DESIGNER

AND SHALL BE DESIGNED FOR THE JAMB LOAD LISTED IN ABOVE TABLE AS CALCULATED PER NOTE 3.

. EDGE DISTANCES, END DISTANCES AND SPACINGS SHALL BE SUFFICIENT TO PREVENT SPLITTING OF THE WOOD.

Approved

Dwayne J. Kornish, P.E.
4576 County Rd 160
Mount Hope, Ohio

FLPE 77945 TX PE 117868

Revision P7



SCHEDULE 3
3/8"Qd A307 HEADED OR HOOKED ANCHOR BOLTS IN NORMAL WEIGHT CONCRETE

. BASED ON 3/8"@ A307 HEADED OR HOOKED (1.69" MIN. HOOK LENGTH) ANCHOR BOLTS WITH A 2" O.D. WASHER
WITH A MINIMUM EMBEDMENT DEPTH OF 3" AND A MINIMUM EDGE DISTANCE OF 3".
2. PROVIDE QUANTITY OF ANCHOR BOLTS AS REQUIRED TO MAINTAIN MAXIMUM SPACING AS SHOWN IN
TABLE WITH A MINIMUM OF THREE (3) ANCHOR BOLTS PER JAMB. ANCHOR BOLTS AT TOP AND BOTTOM
OF JAMB SHALL BE PLACED A MAXIMUM OF 6" FROM THE END OF THE JAMB.
3. LOAD PER JAMB CALCULATED BY TAKING DESIGN LOAD (PSF) TIMES DOOR WIDTH (FT) DIVIDED BY 2.

—

EXAMPLE: DESIGN LOAD = 30psf
DOOR WIDTH = 16ft
LOAD PER JAMB = 30psf x 16ft/2 = 240Ib/ft

4. CHART IS BASED ON 6-6" MINIMUM AND 24'-0" MAXIMUM DOOR HEIGHT.
5. DOOR JAMB TO BE 2x6 NO. 2 GRADE SPF LUMBER OR BETTER MOUNTED TO SUPPORT STRUCTURE.

IF MOUNTING OVER DRYWALL, INCREASE FASTENER LENGTH TO ACHIEVE MINIMUM REQUIRED PENETRATION.

6. DESIGN OF THE SUPPORT STRUCTURE SHALL BE THE SOLE RESPONSIBILITY OF THE BUILDING DESIGNER
AND SHALL BE DESIGNED FOR THE JAMB LOAD LISTED IN ABOVE TABLE AS CALCULATED PER NOTE 3.

Approved

Dwayne J. Kornish, P.E.
4576 County Rd 160
Mount Hope, Ohio

FL PE 77945 TX PE 117868

Revision P7

MAXIMUM SPACING OF ANCHOR BOLTS PER JAMB (IN)
LOAD PER 2000 PSI 2500 PSI 3000 PSI
JAMB (LB/FT)*°"E3|  CONCRETE CONCRETE CONCRETE
100 24 24 24
120 24 24 24
140 24 24 24
160 24 24 24
180 24 24 24
200 24 24 24
220 24 24 24
240 24 24 24
260 24 24 24
280 24 24 24
300 24 24 24
320 24 24 24
340 24 24 24
360 23 24 24
380 22 24 24 YNNG,
400 20 24 24 =<t OF T& 2
420 19 24 24 PSS U
440 19 23 24 ;’ >
460 E 22 24 Zui N L
i 2 2z BWARE TKO
500 16 20 24 ";"—6"-""""1'17858
520 16 20 24 (RS
540 15 19 23 .Q:)"\g\"'-f,/CEN
560 14 18 22 \\\\S/éh'KL ©
580 14 18 21 s
600 13 17 20
620 13 16 20 /é(/
640 13 16 19 !
660 12 15 19
680 12 15 18 %// ]/; do /
700 11 14 17
720 11 14 17
740 11 14 16
760 11 13 16
780 10 13 16
800 10 13 15



SCHEDULE 4
3/8"@ SIMPSON TITEN HD SCREW ANCHORS

MAXIMUM SPACING OF ANCHORS PER JAMB (IN)
LOAD PER 2500 PSI 4000 PSI 2000 PSI GROUT
JAMB (LB/FT)"°™84| CONCRETE"™' | CONCRETE"®! | FILLED CMUNOTE2
100 24 24 24
120 24 24 24
140 24 24 24
160 24 24 24
180 24 24 24
200 24 24 24
220 24 24 24
240 24 24 24
260 24 24 16
280 24 24 16
300 24 24 16
320 24 24 16
340 24 24 16 sSSwy,
360 24 24 16 :’:E OF T& *\\\‘
380 24 24 8 2 AR Jo 'y
400 24 24 8 Z o e sl
420 2 24 8 ;’ ol " % '&'
440 24 24 8 B TN R A
460 24 24 8 g “DWAY NEJKORN‘SH 2
o o = - aomger: vigees i 4
500 24 24 8 ’ﬁd é_U z
520 24 24 8 \ '<‘<\\--.,4,/_CEN5§39~:\§0\,:
540 24 24 8 ‘\\\\S/(j}{j,&:\, O
560 23 24 8 s
580 22 24 8 ,
600 21 23 8 ;
620 21 22 8
640 20 22 8 7
660 19 21 8
680 19 20 8 1/ //‘7/233 {
700 18 20 8
720 18 19 8
740 17 19 N/A
760 17 18 N/A
780 16 18 N/A

. BASED ON 3/8"@ SIMPSON TITEN HD SCREW ANCHOR WITH A 1-3/4" O.D. WASHER INTO NORMAL WEIGHT UNCRACKED
CONCRETE WITH A MINIMUM EMBEDMENT DEPTH OF 2-3/4" AND A MINIMUM EDGE DISTANCE OF 2-3/4".

2. BASED ON 3/8"g SIMPSON TITEN HD SCREW ANCHOR WITH A 1-3/4" O.D. WASHER INTO GROUT FILLED CMU WITH A

MINIMUM EMBEDMENT DEPTH OF 2-3/4", A MINIMUM EDGE DISTANCE OF 4", AND A MINIMUM END DISTANCE OF 4",

CONCRETE MASONRY UNITS SHALL CONFORM TO ASTM C90 AND GROUT SHALL CONFORM TO ASTM C476.

PROVIDE QUANTITY OF SCREW ANCHORS AS REQUIRED TO MAINTAIN MAXIMUM SPACING AS SHOWN IN

TABLE WITH A MINIMUM OF THREE (3) SCREW ANCHORS PER JAMB. SCREW ANCHORS AT TOP AND BOTTOM

OF JAMB SHALL BE PLACED A MAXIMUM OF 6" FROM THE END OF THE JAMB.

4. LOAD PER JAMB CALCULATED BY TAKING DESIGN LOAD (PSF) TIMES DOOR WIDTH (FT) DIVIDED BY 2.

-

|
800 16 17 N/A 1

@

EXAMPLE: DESIGN LOAD = 30psf
DOOR WIDTH = 16ft
LOAD PER JAMB = 30psf x 16ft/2 = 2401b/ft

5. CHART IS BASED ON 6-6" MINIMUM AND 24'-0" MAXIMUM DOOR HEIGHT.

6. DOOR JAMB TO BE 2x6 NO. 2 GRADE SPF LUMBER OR BETTER MOUNTED TO SUPPORT STRUCTURE. |
IF MOUNTING OVER DRYWALL, INCREASE FASTENER LENGTH TO ACHIEVE MINIMUM REQUIRED PENETRATION. |

7. DESIGN OF THE SUPPORT STRUCTURE SHALL BE THE SOLE RESPONSIBILITY OF THE BUILDING DESIGNER
AND SHALL BE DESIGNED FOR THE JAMB LOAD LISTED IN ABOVE TABLE AS CALCULATED PER NOTE 4.

8. SCREW ANCHORS SHALL BE INSTALLED PER MANUFACTURER'S WRITTEN INSTRUCTIONS.

Approved

Dwayne J. Komnish, P.E.
4576 County Rd 160
Mount Hope, Ohio

FLPE 77945 TXPE 117868

Revision P7



SCHEDULE 5
3/8"@ HILTI KWIK BOLT 3 EXPANSION ANCHOR

MAXIMUM SPACING OF ANCHORS PER JAMB (IN)
LOAD PER 2500 PSI 4000 PSI 2000 PSI GROUT
JAMB (LB/FT)NTE4[ CONCRETEN™! | CONCRETEN™E! | FILLED CMUNOTE?
100 24 24 24
120 24 24 24
140 24 24 24
160 24 24 24
180 24 24 24
200 24 24 24
220 24 24 24
240 24 24 24
260 24 24 24
280 24 24 24
300 24 24 24
320 24 24 16
340 24 24 16
360 24 24 16
380 24 24 16 ...,\‘SE‘T‘E\\\‘
400 24 24 16 ;'\?3%.........,;\:4&\“
420 24 24 16 P N
440 24 24 16 Fxi K
460 24 24 16 7 x: [N
480 24 24 8 ?DWAYNE J KORN\SH?
500 24 24 8 (AR T Y
520 24 24 8 0 s, Az
540 24 24 8 N P o__.-é;\‘ 4
560 24 24 8 \\\ é‘ég--@.‘%{‘!...~€$_’:
580 24 2 8 MONAY =
600 23 23 8
620 22 22 8
640 22 22 8
660 21 21 8 %
680 20 20 8 %// 7 21) /
700 20 20 8
720 19 19 8
740 19 19 8
760 18 18 8
780 18 18 8
800 17 17 8

. BASED ON 3/8"@ HILTI KWIK BOLT 3 EXPANSION ANCHOR WITH A 1-3/4" O.D. WASHER INTO NORMAL WEIGHT
UNCRACKED CONCRETE WITH A MINIMUM EMBEDMENT DEPTH OF 2-1/2" AND A MINIMUM EDGE DISTANCE OF 3",
BASED ON 3/8"@ HILTI KWIK BOLT 3 EXPANSION ANCHOR WITH A 1-3/4" O.D. WASHER INTO GROUT FILLED CMU WITH A
MINIMUM EMBEDMENT DEPTH OF 2-1/2" AND A MINIMUM EDGE DISTANCE OF 4".
ONLY ONE ANCHOR PER MASONRY UNIT
CONCRETE MASONRY UNITS SHALL CONFORM TO ASTM C80 AND GROUT SHALL CONFORM TO ASTM C476.
3. PROVIDE QUANTITY OF ANCHORS AS REQUIRED TO MAINTAIN MAXIMUM SPACING AS SHOWN IN

TABLE WITH A MINIMUM OF THREE (3) ANCHORS PER JAMB. ANCHORS AT TOP AND BOTTOM

OF JAMB SHALL BE PLACED A MAXIMUM OF 6" FROM THE END OF THE JAMB.
4. LOAD PER JAMB CALCULATED BY TAKING DESIGN LOAD (PSF) TIMES DOOR WIDTH (FT) DIVIDED BY 2.

=y

N

EXAMPLE: DESIGN LOAD = 30psf
DOOR WIDTH = 161t
LOAD PER JAMB = 30psf x 16f/2 = 240lb/ft

CHART IS BASED ON 6'-6" MINIMUM AND 24'-0" MAXIMUM DOOR HEIGHT.
6. DOOR JAMB TO BE 2x6 NO. 2 GRADE SPF LUMBER OR BETTER MOUNTED TO SUPPORT STRUCTURE.
IF MOUNTING OVER DRYWALL, INCREASE FASTENER LENGTH TO ACHIEVE MINIMUM REQUIRED PENETRATION.
7. DESIGN OF THE SUPPORT STRUCTURE SHALL BE THE SOLE RESPONSIBILITY OF THE BUILDING DESIGNER
AND SHALL BE DESIGNED FOR THE JAMB LOAD LISTED IN ABOVE TABLE AS CALCULATED PER NOTE 4.
8. SCREWANCHORS SHALL BE INSTALLED PER MANUFACTURER'S WRITTEN INSTRUCTIONS.

o

Approved

Dwayne J. Kornish, P.E.
4576 County Rd 160
Mount Hope, Ohio

FLPE 77945 TX PE 117868

Revision P7




Ld (A ZANS 4
dN3d OLLO3AN anvr
‘A3¥ | "ON Livd INImMVA N dns N NOD
a3HO3HI| z 4o | 133ks |
L1349 ZL/6L/% NMV¥a 'SE1 00¥Z 40 ALRVAVD 'SE1 802 40 ALIOVAVD
INVN alva avol ﬁ..ﬂo%m:%ﬁﬁ_wmm% avo1 N9IS3d WNWIXYN ~3LON avo71 N9IS3d WNWIXYW T3ION
TINLINELS_T904dNnS doom T AT INOY9_15d 0002 WARININ AITIONOT_Bd 0052 WININIA
T IvIEd ZvIEa TvIa

LL/zL/oL 353
%0019 FLLL @3lvadn ¥

SNOISIAZY

MIANIN 1H0ddNS

NIVN 3HL OLNI .2€/6-L

40 NOLLYAL3N3d | WONWININ

V 3AVH TIVHS SM3NOS 9v1

'SUZHSYM "0'0 .#/L—L HLWM
SM3Y¥OS 9V °vIa 8/¢ SI/

L

«I 2/ -

_|.N\_.IF
> T gL _v
T ‘ |

- /

13XMovag 3NId NY3HLNOS
007 ¥3aV3H D of 9xZ WANININ

“«¥ 40 30NVLSIQ

3903 WAWININ V ANV #/€-2C

40 HLd30 LNINA3EN3 WNKWININ vV
NV ¥3HSVM .b/L—L V HLM 4OHONY
M3¥IS GH N3LWL NOSdMIS .8/¢ (¥,

".b/€~2 40 30NvLSIa

3903 WNWININ V ONY _$/S—2Z

40 HLJ3a LN3WN@3SW3 WNRNINIW ¥
ANV ¥3HSVM /L L V HLM 3OHONY
MINOS GH NALL NOSIWIS .8/¢ (2)

b kil |

STUVL30 NOLLONALSNOD GYOKINIM 30 NOLLYOLIREA
¥04 AINO G3AINOYd TVS SAEINIING TYNOISSII0Ud

898411 3d XL SPBLL 3d W
OHO ‘3dOH LNNOW
09L QY ALNNGD 9.5
3d ‘HSINYOM T 3NAYMA

|
e . .G e 2 vlﬂl_ﬂ.ﬂ ~ M
Fe [T 1 T I
e | E ! K7
“43ENN “y38NNT
1ovug 3NId N¥3IHLNOS 13xovye 3NId N¥3HLNOS
3001 ¥3aV3H D oF 9xZ WANININ 3307 ¥3aV3H D of 9x2 WANININ

e/,
o7 @

3ava9 IVANLONALS

g :::.z_zl/ .

¥ MYHL L S31NA3HIS

¥3d mmmvm._.mﬁ_l/

i)

;

5

"SWALSAS

INIQVOANEY LSOd
TVOLLMEA d04 a3AIND3Y —
€ ANV ‘2 ‘L SVL3a 33S

e e
—_ N

~
‘

............ S
£ OSSNy
£ 2h,
o 300 73 stk
o w Im.._.ﬁ,._m@.v_:.m.mz.\.,.ﬂgh.“
(g i ?
T K sz
" S NoF
WO e N34
:iﬁ\ws 30 2%
-— ANSSS
‘KD 3T LNOYS . —
GNY 3134ONOD OL
52 Anain 30 »
INRVAS
oL Lnameovily i
1HOI3H ¥00a 04 y3aAm

ozes—csz (008)
£90SZ XL ‘ITIASIMIT 002 3ALINS
LZL AVMHOIH 3ALVLS HLNOS LOSZ
NOLLYHOJ¥0D ¥00d avIHH3A0

*[BUIBLIQ Y [ "oUINUID) Y .




Ld

ey

IN3INITddNS NOLLOANNOO gnvr

0078 UL aaLvadn £y

LL/ZL/oL 253

SNOISAY

‘A4 | ‘ON L¥vd ONmVia
aBIOIHI| z 4o 7 133HS |
pET) Zi/61/% | Wvad
INVN alva

TINALSVI VT 93d 3871 02% XVA
VLT SNINMON JOoM 10391

HovaL
~ AN X3H 02—+/1
ANV 1708 MovaiL

«91/6%X02=/1
13)OVHE anvr
NOLLYOOT L3)0vy8 anvr
HOV3 ¥0d4 (#/L F) anus

40 ¥3ALN3O NI @383 .28/6-L
HLIM M3Y3S 9V .8l/s

NIHLV3HS
HORIALNI XIvE TI0H

9 z_z._.<mzm$
/ JorAL3a
AN

AN

/l JYNLONAULS 3HL ¥O4 Q¥OI3Y 4O

TVNOISS340¥d 3HL 40 ALMISISNOLS3Y 310S 3JHL
38 TIVHS 3UNLONULS ONLLNOINS 40 N9IS3A
FUNLONAULS 3HL 40 AVOT NIIS3A 3HL @330X3

AVA QVO1 ¥3NALSY4 T18YMOTIV XYW “IION
anLs TIvm ¥31138 30 (2+'0=9) 4dS + X 2 NIN

AvaL

AN X3H 02—b/L
ANV 1708 MovaL
.91/6x0z—/L
13)0VE anve

NOLLVI01T L3Xovaa
SAVh N33amL38 .9
NIN "038N3 NIN +/S-2
‘GH NALLL NOSdWIS .8/¢

JUNLONULS IHL ¥O4
3003 40 TVNOISSI40dd 3HL
40 ALNIGISNOAS3Y 310S 3HL 38
TIVHS 3¥NLINYLS ONILYOLANS 40
NOIS3A "FHNLONAULS 3HL 40 avOl
NOIS30 3HL @330X3 AVH QY01
¥INALSYA TEVMOTIV XVN “IION
AIIUONOD ISd 0002 NI

1sIa 3903 NIN
b/ee

S1IVL30 NOLLONAULSNOD GVOTKINIM SO NOLWVOLIREA
¥04 AINO G3AN0¥d TV3S SATANING TYNOISSII0Nd

898LLL 3d XL SPELL 3d
OHO ‘3dOH LNNOW
0BL Q¥ ALNNOD BLEP
3d ‘HSINYOM T 3NAYMA

.......................

*

o
A%

\\**::

\\\\‘-\

0zés—ssz (008)
£90SL XL ‘ITIUASIMIT 002 3LINS
L2l AVMHOIH 3LVIS HLNOS LOSZ
NOLLYHOd¥00 ¥00d Av3H¥IAO

‘[BUISLIQ Y L *2UINuUIc) Iy .




